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1  Fig. 1 shows quarterly growth of GDP in the UK between 2008 and 2012.
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Fig. 1

(@) Which quarter shown in Fig. 1:

e hasthe highest rate of GDP growth L
* hasthe greatestdecrease in GDP
e s the lastin the longest period of positive
economic growth? e
[3]
(b) A recession is defined as a period of at least two consecutive quarters of negative economic
growth.

What evidence is there of recession between 2008 and 20127 Explain your answer, using the
information in Fig. 1.
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(c) Identify and explain one cost and one benefit of economic growth.
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(d)* Explain two supply side policies which the government could use to achieve economic growth.
Discuss how effective you think each policy might be in achieving economic growth.
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Fig. 2 shows how disposable income is distributed between households in the UK. Disposable
income is income available for spending after direct taxes have been deducted and government
benefits added.
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Fig. 2 — Distribution of disposable income between UK Households

(a) In the table below, place a tick (v) against the two government benefits which households
may receive.

Tick (v)

Job seeker’s allowance

Interest on savings

National insurance

State pension

[2]
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(b) Does Fig. 2 show evidence of an uneven distribution of income between households in the
UK? Explain your answer.
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(d)* Should the UK government increase direct taxes, such as income tax, to redistribute incomes
more evenly? Give reasons for your answer.
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9
Fig. 3 shows the annual UK rate of inflation (CPI) between 2003 and 2012.
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Fig. 3

(a) Explain what is meant by inflation.

(b) The rate of inflation is measured by the CPI.

(i) What is the full name of the CPI?

(i) According to Fig. 3, in which year was the rate of inflation at its highest?

1]

]

(iii) The Bank of England has a 2% per year inflation target. How successful was it in

achieving this target during the period shown in Fig. 3? Explain your answer.
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(c) Explain why inflation could lead to

b menu costs

*  hyperinflation.
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(d)* Explain two government policies which could be used to reduce the rate of inflation. Discuss
how effective you think each policy might be in reducing the rate of inflation.

END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional answer space is required, you should use the following lined page. The question number(s)
must be clearly shown in the margins.

OCR

Oxford Cambridge and RSA

Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials. OCR has attempted to identify and contact all copyright holders
whose work is used in this paper. To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright
Acknowledgements Booklet. This is produced for each series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible
opportunity.

For queries or further information please contact the Copyright Team, First Floor, 9 Hills Road, Cambridge CB2 1GE.
OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is itself a

department of the University of Cambridge.

© OCR 2015



